
𝟐
𝟏

𝟐
 

  
 

+∞ −∞

 lim
𝑥 → 2

 
4 − 𝑥2

2𝑥2 − 5𝑥 + 2

 lim
𝑥 → −5

 
√2𝑥 + 19 − 3

𝑥 + 5

 lim
𝑥 → −3+

 
𝑥2 − 4𝑥 − 21

𝑥2 + 6𝑥 + 9

 
lim

𝑥 → 6
 

3𝑥
𝑥 − 2 −

18
4

𝑥 − 6

 lim
𝑥 → −∞

 
5𝑥4 + 8𝑥5 − 4

2𝑥4 − 3𝑥 − 11𝑥5

 

+∞ −∞

lim
𝑥 → 4

 
−𝑥

2𝑥 − 8

 3𝑥5 + 2𝑥3 + 7𝑥 = 25

 

 𝑓′(𝑥) 𝑓(𝑥) = √3𝑥 − 5

 𝑓(𝑥) 𝑥 = 2

 
𝑑𝑦

𝑑𝑥

 𝑦 = 6𝑥5 − 15√𝑥
3

+
4

𝑥2
− cos 𝑥 + 5𝜋3 − 8𝑥 + 9

 𝑦 = (7𝑥4 − 3𝑥7)6(5𝑥 − 2)3

 𝑦 =
tan(2𝑥5)

3𝑥 − 1

 𝑦 = cos(sin(4𝑥3))

  𝑦 = 6𝑥9 csc 𝑥 + cot5 𝑥

 4𝑥3 sin 𝑦 = 𝑥5𝑦3 − 7𝑥



 

𝑐𝑚/𝑠𝑒𝑐 𝑐𝑚/𝑠𝑒𝑐

 

 𝑓(𝑥) = 12𝑥3 − 3𝑥4 − 10

 𝑓.

 𝑓

 𝑓 𝑓

 𝑓

 𝑦 = 𝑓(𝑥)

𝑥 

𝑦 


